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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer all questions from  1 to 9.

Each carry one score.

1. The statement prepared to test

the arithmetical accuracy of the

books of accounts.

a) Balance Sheet

b) Trial Balance

c) Profit and Loss Account

d) Journal

2. Pick out the WRONG pair.

a) Land, Building

b) Cash, Stock

c) Debtors, Machinery

d) Copyright, Patent

3. Which one of the following is

NOT an element of Computer

System?

a) IQ

b) Hardware

c) Software

d) People

4. A bill is 'noted' when it is ..........

a) Discounted

b) Honoured

c) Dishonoured

d) Endorsed

1 oOf¤ 9 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. mO¨VyV KLlV A¨Tº]R£ WQf|f

kq]SwLi]¨L¢ Svº] fáLrL¨O

ÐfV.

a) mL¨] kNfU

b) w]xVa kNfU

c) sLnjxVa We V̈

d) jL¥vu]

2. RfãV Bp]ŸOtt S^Lc] WRº¾OW.

a) sL¢cV, m]¤c]UYV

b) keU, SðL¨V

c) RcmVã¡, Rox]jr]

d) kW¡ÕvWLwU,

j]¡ÚLevWLwU

3. fLRu krpOÐvp]¤ WUk|PŸr]R£

ZaWosæL¾fV JfV?

a) RI.W|P

b) zL¡cVRvp¡

c) SyLlVãVRvp¡

d) k}Õ]¥

4. KqO m]sæ V SjLŸV R\áOÐfV AfV

...................... R\áOSÒLuLeV.

a) c]yV¨TºV

b) SzLe¡

c) c]yVSzLe¡

d) C¢ScLuVyV

(9 × 1 = 9) (9 × 1 = 9)
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5. Which one of the following is

NOT a contra transaction in Two

Column Cash Book?

a) Cash deposited into bank

b) Opened a new account with

bank

c) Cash withdrawn from bank

for domestic purpose.

d) Cash withdrawn from bank

for office use

6. Which term refers to writting-

off the cost of intangible assets

like Patents, Copyright, Trade

Marks etc?

a) Amortization

b) Depletion

c) Obsolescence

d) None of these

7. Fill in the blank with suitable

'data type' on the basis of hint

given.

a) Emp Name : Text / Text

(Varchar)

b) Emp Salary : .............

5. fLRu krpOÐvp]¤ qºV SWLtU

WLxV mO¨]¤ SWL¦Na CakLaLp]

vqL¾fV JfV?

a) keU mLË]¤ j]Sƒk]\ÿO

b) mLË]¤ kOf]p A¨TºV fOa°]

c) mLË]¤ j]ÐOU v}ŸLvw|¾]

jLp] Daoò¢ keU

k]¢vs]\ÿO.

d) mLË]¤ j]ÐOU Bl}yV

Bvw|¾]jLp] Daoò¢ keU

k]¢vs]\ÿO.

6. yVk¡w]¨LSjL, h¡w]¨LSjL

kãL¾ ByVf]W¥ Bp j]¡ÚLe

AvWLw¾OW, Skã¢cV, RNap]cV

oL¡¨V IÐ]v IuOf] fttOÐf]

jLp] DkSpLY]¨OÐ khU JfLeV.

a) ASoL¡Ÿp]Syx¢

b) c]kæx¢

c) KmVRysy¢yV

d) CvRpLÐOosæ

7. fÐ]q]¨OÐ yP\jpORa Aa]òLj

¾]¤ "cLã RRaÕV' IuOfOW.

a) Emp Name : Text / Text

(Varchar)

b) Emp Salary : .............
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8. "RRlj¤ A¨TºV fáLrL¨O

SÒL¥ jsVWLjOtt SvfjU, j¤W]p

SvfjS¾LaV WPŸOÐO.' CT vLW|¾]

¤ NkyWVfoLp A¨Tº]UYV ff~U

JfLeV?

9. BqUn¾]Rs oPsijU WRº¾OW.

v¡xLÍ| oPsijU – 6,00,000 qPk

jaÕV v¡xR¾ sLnU – 40,000 qPk

jaÕV v¡xR¾ f¢kãV – 58,000 qPk

10  oOf¤ 15  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

2 yVSWL¡ v}fU.

10. ""WUk|PŸrOW¥¨V iLqLtU Wu]vOW¥

DRºË]sOU CvpV¨V \]s

kq]o]f]WtOU DºV.' JRfË]sOU qºV

kq]o]f]W¥ SqXRÕaO¾OW.

11. ""A¨Tº]UYV IÐfV KqO

SkLyVãVSoL¡ŸU y¡SvÿpLeV.'' j]°¥

Cf]SjLaV SpL^]¨OÐOSºL?

j]°tORa D¾qR¾ yLiPWq]¨OW.

8. 'While preparing final accounts,

outstanding wages is added to

the wages account'. Identify the

accounting principle related

with this statement.

9. Calculate capital at the

beginning.

Closing capital Rs. 6,00,000/-

Profit for the year Rs. 40,000/-

Drawings during the year

Rs. 58,000/-

Answer any five questions

from 10 to 15. Each carries two

scores.

10. "Even though computer posses

many capabilities it suffers from

number of limitations". Mention

any two limitations.

11. 'Accounting is a post mortem

survey'. Do you agree? Justify

your answer.

(5 × 2 = 10) (5 × 2 = 10)
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12. Identify the following symbols

used for constructing ER

diagrams.

a)   =   Entity

b)      =   .......?.......

c)            =   .......?.......

13. Write the treatment of return

inwards and return outwards in

the financial statements.

14. List out any four advantages of

computerized accounting

system.

12. ER cpNYU fáLrL¨OSÒL¥

DkSpLY]¨OÐ fLRu RWLaO¾]ŸOtt

\]ø°¥ f]q]\ÿr]pOW.

a)   =   I£]ã]

b)      =   .......?.......

c)            =   .......?.......

13. ijWLq| kNf]Wp]¤ r]SŸ¦

C¢SvuVyV, r]SŸ¦ KTŸVSvuVyV

IÐ]vpORa SqXRÕaO¾¤

IuOfOW.

14. WUk|PŸRRry]cV A¨Tº]UYV

y]ð¾]R£ JRfË]sOU jLsV

So¢oW¥ IuOfOW.
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15. Complete the following as per

hint given.

15. yP\j AjOyq]\ÿV kP¡¾}Wq]¨OW.

16  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

16. fLRu j¤W]p]q]¨OÐ v]vq°t]¤

j]ÐOU Wa¾]jOtt v]¤ÕjpORa

fOW j]¡¹p]¨OW.

v]whLUw°¥ qPk

RcmVSãuVyV mLs¢yV 1-4-2017 25,000

RcmVSãuVyV mLs¢yV 31-3-2018 40,000

RcmVSãuVy]¤ j]ÐOU sn]\ÿ fOW 50,000

c]yV¨TºV j¤W]pfV 7,000

W]ŸL WaU 3,000

Answer any two questions from

16 to 18. Each carries three

scores.

16. From the following particulars

ascertain credit sales.

Particulars Rs.

Debtors as on 1st April 2017 25,000

Debtors as on 31st March 2018  40,000

Cash received from Debtors 50,000

Discount allowed  7,000

Bad debts  3,000

Transaction Effect on business

CakLaV m]y]jô]sOtt y~Li}jU

a) Purchased good for cash l Increase in asset

keU j¤W] yLijU vL°] ByVf] v¡È]¨OÐO

l Decrease in asset

ByVf] WOrpOÐO

b) Bought furniture on credit l ..............?..............

l¡e]\ÿ¡ Wa¾]jV vL°]
l ..............?..............

c) Bank loan repaid l ..............?..............

mLËV vLpVk f]q]\ÿa\ÿO
l ..............?..............

(2 × 3 = 6) (2 × 3 = 6)
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17. DBMS&R£ JRfË]sOU 3 ZaW°¥

\OqO¨] v]vq]¨OW.

18. fLRu jsVW]p]q]¨OÐ v]whLUw°

¥ kq]Ye]\ÿ V 2017  v¡xR¾

"SWLyVãV KLlV YOcVyV SyL¥cV'

j]¡¹p]¨OW.

v]whLUw°¥ qPk

v¡xLqUn \q¨O SwXqU 80,000

v¡xLÍ| \q¨O SwXqU 1,30,000

k¡\ÿp]yV 3,75,000

Ryp]¤yV 6,00,000

WLSq|^V C¢SvuVyV 7,000

WLSq|^V KTŸVSvuVyV 4,000

Sv^yV 12,000

17. Briefly explain any three

components of DBMS.

18. Calculate cost of goods sold for

the year 2017 with the help of the

following information.

Particulars Rs.

Opening stock 80,000

Closing stock 1,30,000

Purchases 3,75,000

Sales 6,00,000

Carriage inwards 7,000

Carriage outwards 4,000

Wages 12,000
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19  oOf¤ 22  vRqpOtt S\Lh|°t]¤

JRfË]sOU 3 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

19. AX]s]jV fLRuÕrpOÐ CakLaOW¥

m]y]jô]¤ ja¨OÐO.

a) 5,00,000 qPk keoLp] j]Sƒ

k]\ÿV m]y]jôV BqUn]\ÿO.

b) yLij°¥ WaoLp] vL°]pfV

40,000 qPk.

c) 27,000  qPkpV¨V vL°]p

yLij°¥ 30,000 qPkpV¨V

WaoLp] v]ãO.

d) mLËV SsL¦ sn]\ÿfV 80,000

qPk.

A¨Tº]UYV yovLW|U

Rft]p]¨OW. [A = L + C]

20. fLRu RWLaO¾]q]¨OÐ RfãOW¥

f]qO¾OW.

a) k¡S\ÿyV Sc mO¨V 500 qPk

Ai]WU WLe]¨OÐO.

b) WOoLr]jV j¤W]p 26,000 qPk

wÒtU ASÇz¾]R£ v|WVf]Yf

We¨]Ss¨V cm]ãV R\pVfO.

c) Y}fpORa RRWá]¤ j]ÐV 2,500

qPkpORa yLijU vL°]pfV

Sc mO¨]¤ SqXRÕaO¾L¢

v]ŸOSkLp].

d) 4,000 qPkpORa Bl}yV

l¡e]\ÿ¡ vL°]pfV Ryp]¤yV

A¨Tº]¤ SkLðV R\pVfO.

Answer any three questions

from  19 to 22. Each carries four

scores.

19. Akhil has the following

transactions.

a) Started business with cash
Rs. 5,00,000.

b) Purchased goods on credit

Rs. 40,000.

c) Sold goods costing Rs. 27,000

on credit for Rs. 30,000.

d) Bank loan received

Rs. 80,000

Prove the accounting equation.

[A = L + C]

20. Rectify the following errors.

a) Purchase day book overcast
by Rs. 500.

b) Salary paid to Mr. Kumar is

debited to his personal
account Rs. 26,000.

c) Purchase of goods from
Geetha Rs. 2,500 is omitted

to record in day book.

d) Sale of office furniture for

Rs. 4,000 posted to sales

account.

(3 × 4 = 12) (3 × 4 = 12)
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21. On 1st May 2017, Krishna sold

goods to Kripa for Rs. 20,000 and

drew a bill of exchange for 3

months. Kripa accepted the bill.

On 1st June 2017 Krishna

discounted the bill with her bank

for Rs. 19,500. But on the date of

maturity of the bill, Kripa was

unable to make the payment.

Pass the journal entries in the

book of Krishna.

22. A company purchased a

machinery for Rs. 50,000 on 30th

June 2015. Depreciation is

charged @ 10% under straight

line method and accounts closed

on 31st December every year.

a) Show the Machinery account

upto 31st December 2016.

b) Distinguish between straight

line method and written

down the value method.

Write two points.

21. 2017 SopV 1&jV WQxVe 20,000

qPkpORa yLij°¥ WQkpV¨V

Wa¾]jV v]¤¨OWpOU oPÐV

oLyR¾ WLsLvi]p]¤ KqO m]¤

IuOfOWpOU R\áOÐO. CT m]¤

WQk AUY}Wq]¨OÐO. 2017 ^P¦

1 jV WQxVe CT m]¤ fR£ mLË]¤

j]ÐOU c]yV¨TºV R\pVfV 19,500

qPk y~}Wq]¨OÐO. kSƒ m]sæ]R£

WLsLvi] V̈ WQk keU j¤WOÐ]sæ.

WQxVepORa mO¨]¤ CfOoLp]

mÌRÕŸ S^¡e¤ I¢Na]W¥

SqXRÕaO¾OW.

22. KqO WÒj] 50,000  qPkpORa

v]spOtt Rox]jr] 2015 ^P¦ 30

jV vL°] 10% vL¡x]W j]q¨]¤

c]Nk]y]Spx¢ yVNap]ãV RRs¢

q}f]p]¤ IsæL v¡xvOU c]yUm¡

31&jV We¨V f}¡ÕL¨OÐO IÐ

yËsVÕ¾]¤

a) 2016 c]yUm¡ 31 vRqpOtt

Rox]jr] A¨TºV fáLrL¨OW.

b) yVRNap]ãV RRs¢ q}f]pOU r]Ÿ¦

cT¦ q}f]pOU fÚ]sOtt

v|f|LyU (2 SkLp]£V) IuOfOW.



K-44 10

FY 50

Answer question numbers 23 ,

24 and 25. Each carries five

scores.

23. A portion of Trial Balance on 31st

December 2016 is as follows :

Sundry Debtors Rs. 62,000

Bad debts Rs. 4,000

Additional information :

a) Further Bad debts to be

written off Rs. 2,000.

b) Create provision for bad

debts @ 5% on debtors.

Give journal entries and show

how this items will appear in the

final statements of the business.

23 oOf¤ 25 vRq IsæL S\Lh|°¥¨V

D¾qRouOfOW.  5 yVSWL¡ v}fU.

23. 2016 c]yUm¡ 31– Nap¤

mLs¢y]R£ KqO nLYU fLRu

j¤W]p]q]¨OÐO.

y¢Na] cmVSãuVyV 62,000 qPk

mLcV cmVãVyV 4,000 qPk

AjOmÌ v]vq°¥ :

a) Ai]WoLp] W]ŸL¨aU IuOf]

fSttºfV 2,000 qPk.

b) cmVSãuVy]R£ 5%  yUwpLyVk

hoLp] W]ŸL¨a¾]jO Svº]

oLã] vpV̈ OW.

S^e¤ I¢Na]W¥ IuOfOW.

m]y]jô]¤ l]jLx|¤ SðãORo£]¤

Cv I°Rj Nkf]ls]¨OÐO IÐV

WLe]¨OW.

(3 × 5 = 15)
(3 × 5 = 15)
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24. From the following particulars,

prepare an analytical petty cash

book for the month of November

2018, under the imprest system.

 2018

 November Rs.

 1 Balance in hand 87

 1 Cheque received from

main cashier 413

 3 Stamp purchased 60

 6 Stationery 44

 8 Printing charges 62

 10 Cartage 50

 14 Travelling expenses 64

 15 Repairs 74

 26 Paper & Pencil 38

 30 Telephone charges 28

24. fLRu RWLaO¾]q]¨OÐ v]vq°

tORa Aa]òLj¾]¤ 2018 jvUm¡

oLyR¾ Ajsã]¨¤ Rkã] WLxV

mO¨V CUNkðV q}f]p]¤

fáLrL¨OW.

 2018

 jvUm¡ Rs.

 1 RRWvwÕeU 87

 1 NkiLj keU yPƒ]ÕOWLqj]¤

j]ÐOU sn]\ÿ R\ V̈ 413

 3 fkL¤ ðLÒV 60

 6 IuO¾O yLoNY]W¥ 44

 8 Nk]£]UYV \L¡^V 62

 10 \q¨OWOPs] 50

 14 pLNfLR\svV 64

 15 r]Õp¡ 74

 26 SkÕ¡, Rk¢y]¤ 38

 30 Ras]SlL¦ \L¡^V 28
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25. On March 31, 2017 the cashbook

of Mr. Sreejith, a trader showed

a deposit balance of Rs. 48,400.

His passbook as on that date was

Rs. 51,880. On comparing the

cashbook with the passbook, the

following differences were

observed.

a) Direct payment by three

customer to the bank

amounted Rs. 7,800.

b) Insurance premium paid by

bank Rs. 1,200.

c) Bank charges debited in

passbook Rs. 120.

d) Cheque issued to a customer

but not presented for

payment Rs. 6,000.

e) Four cheques paid into bank

for collection but not

collected amounted to Rs.

9,000

Prepare a Bank Reconciliation

statement as on 31st March 2017.

25. KqO v|LkLq]pLp è}^]¾]R£ WLxV

mO¨]¤ 2017 oL¡\ÿV 31&jV 48,400

qPk c]SÕLy]ãV mLs¢yV DttfLp]

WLeOÐO. IÐL¤ kLyVmO¨V

NkWLqU 51,880 qPkpLeV mLs¢yV.

W|LxV mO¨OU kLyVmO¨OU fÚ]¤

fLqfo|U R\pVfSÕL¥ fLRu

krpOÐ v|f|Ly°¥ DttfLp]

WLeOÐO.

a) oPÐV DkSnLWVfL¨¥ mLË]¤

Sjq]ŸV Aa\ÿ fOW 7,800 qPk.

b) mLËV j¤W]p C¢xOr¢yV

Nk}o]pU fOW 1,200 qPk.

c) kLyVmO¨]¤ cm]ãV R\pVf

mLËV \L¡^yV fOW 120 qPk.

d) DkSnLWVfLv]jV R\¨V j¤W]

IË]sOU mLË]¤ yo¡Õ]¨L

f]qOÐ fOW 6,000 qPk.

e) jLsV R\¨V mLË]¤ j¤W]pfV

A¨Tº]¤ vqvV vpV¨L¾

fOW 9,000 qPk.

2017  oL¡\ÿ V 31  jV mLËV

r}W¦y]s]Spx¢ SðãVRo£V

fáLrL¨OW.



Turn OverK-44 13

FY 50

26 DU 27 DU S\Lh|°t]¤ JRfËsOU

KÐ]jV D¾qRouOfOW. 8 yVSWL¡.

26. ^jOvq] 2018 Rs j¤W]p]q]¨OÐ

CakLaOWRt mÌRÕŸ NkSf|W

S^¡esOWt]¤ SqXRÕaO¾OW.

2018
^jOvq]

1 RqL¨U ke¾]jV yLij°¥ v]ãfV

48,000 qPk

7 w]vrLU CsWVNa]¨¤y]¤ j]ÐOU

yLij°¥ vL°]pfV (C¢SvLpVyV jÒ¡

2345)

20 lLjOW¥ @ 1,200 qPk v}fU

v|LkLq W]u]vV 10%.

 10 RqL¨U ke¾]jV yLij°¥ vL°]pfV

13,800 qPk.

 11 Sqvf] SNaScuVy]jV yLij°¥ v]ãfV

(C¢SvLp]yV jÒ¡ 327)

4 Wt¡ Ras]v]x¢ @ 14,000 qPk v}fU.

5 WUk|PŸrOW¥ @ 28,000 qPk v}fU.

8 Sam]¥ lLjOW¥ @ 1,550 qPk v}fU.

 15 qLYU J^¢y]p]¤ j]ÐOU yLij°¥

vL°]pfV (C¢SvLp]yV jÒ¡ 046)

15 Wt¡ Ras]v]xjOW¥ @ 12,800 qPk

v}fU.

8 WUk|PŸrOW¥ @ 26,000 qPk v}fU.

 20 RqL¨U ke¾]jV yLij°¥ v]ãfV 3,400

qPk.

Answer any one question from

26 to 27, which carries eight

scores.

26. Consider the following

transactions  and record them

into appropriate special journals

for the month of January 2018.

 2018

 January

 1 Sold goods for cash Rs. 48,000/-

 7 Purchased goods from M/s Sivaram

Electricals (Invoice No. 2345)

20 Fans @ Rs. 1,200 per piece

less trade discount 10%

 10 Purchased goods for cash Rs. 13,800/-

 11 Sold goods to M/s Parvathy Traders

(Invoice No. 327)

4 Colour TV @ Rs. 14,000/- per piece

5 Computers @ Rs. 28,000/- per piece

8 Table fans @ Rs. 1,550/- per piece

 15 Purchased goods from M/s Ragam

Agencies (Invoice No. 046)

15 Colour TV @ Rs. 12,800/- per piece

8 Computers @ Rs. 26,000/- per piece

 20 Cash sales Rs. 3,400/-

(1 × 8 = 8)

(1 × 8 = 8)
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 28 A¤lL CsSNaLe]WVy]jV yLij°¥ v]ãfV

(C¢SvLp]yV jÒ¡ 328)

2 WUk|PŸrOW¥ @ 30,000 qPk v}fU v|LkLq

W]u]vV 5%

 31 AqOeL s]o]ãc]¤ j]ÐOU yLij°¥

vL°]pfV (C¢SvLp]yV jÒ¡ 864)

12 vLx]UYV Rox}jOW¥ @ 20,000 qPk

v]fU v|LkLq W]u]vV 10%

27. A^pR£ 2018 oL¡\ÿV 31&Rs Nap¤

mLs¢yV fLRu fÐ]q]¨OÐO.

 28 Sold goods to M/s Alpha Electronics

(Invoice No. 328)

2 Computers @ Rs. 30,000/- per piece

less trade discount 5%

 31 Purchased goods from M/s Aruna Ltd.,

(Invoice No. 864)

12 Washing machines @ Rs. 20,000 per

piece less trade discount 10%.

27. Following is the Trial Balance of

Mr. Ajayan as on 31st March 2018.

Trial Balance as on 31–03–2018
Nap¤ mLs¢yV 31–03–2018

Particulars Debit Amount Credit Amount
v]whLUw°¥

Opening stock 24,000 –        .
NkLqUn j}¨]p]qOÕV \q V̈

Purchases 1,38,000 –        .
k¡\ÿpVyV

Sales –     . 2,68,000
Ryp]¤yV

Freight 24,300 –        .
\q¨OWPs]

Salaries 65,000 –        .
wÒtU

Sundry Debtors 26,000 –        .
y¢Nc] cmVSãuVyV

Sundry Creditors –     . 24,000
y¦Nc] NWc]SãuVyV

Land and Building 1,80,000 –        .
sL¢cV B¢cV m]¤c]UYV
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Interest –     . 600
ks]w

Rent 8,000 –        .
vLaW

Furniture 15,000 –        .
l¡e]\ÿ¡

Insurance charges 800 –        .
C¢xOr¢yV \L¡^yV

Capital –     . 2,07,400
WLk]ã¤

Cash in hand 7,200 –        .
WLxV

Cash at bank 11,700 –        .
mLËV

5,00,000 5,00,000

Additional Informations :

a) Closing stock was valued at

Rs. 40,000/-.

b) Freight outstanding

Rs. 2,000/-.

c) Salaries prepaid Rs. 5,000/-.

d) Depreciate furniture by 10%.

e) Internet accrued Rs. 200/-.

Prepare Trading, Profit and

Loss account for the year ending

31–03–2018 and Balance Sheet

as on that date.

AjOmÌ v]vq°¥:–

a) v¡xLÍ| SðL¨V 40,000 qPk.

b) WOa]ê]WpLp \q¨OWPs] 2,000

c) oO¢WP¡ RWLaO¾ wÒtU 5,000

d) l¡e]\ÿ¡ SfpVoLjU 10%

e) ks]w W]ŸLjOttfV 200 qPk.

2018 oL¡\ÿV 31&jV AvyLj]¨OÐ

v¡xR¾ sLnjxVa We¨OU

mLs¢yV x}ãOU fáLrL¨OW.
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